1. gpalance sheet presentation.
January 19X1 is

The balance sheet for Horrific Legal Services on 31

as follows: GO o ‘ _
Horrific Legal Services

Balance Sheert

31 January 19X1

Liabilites and Owner‘s Equity

Assets
cash 56,000 " Liabilities:
Accounts ReC. 5,800 Notes Payable $80,000
Land 100,000 Accounts Payable 10,000
Buildings 40,000 Total Liabilities: 90,000
Equipment 60,000 , Oowner's Equity
: : Honest Abe, Capital $121,800

Total Liabilites

Total Assets . $211,800 and Owner's Equity $211,800

Duing the First Week of February, the following transactions

cccured: .
1. The business Collected $3,000 of its accounts receivable.

5.  owner, Honest Abe invested an addtional 615,000 of cash into

the business.
3. Egquipment was purcahsed on credit (open account) for $2,500.
(there

4. The business paid of $7,500 of its Accounts Payable.
were no payments made on the notes payable.)

Ccomplete the balance sheet for Horrific Legal Services on 28
February 19X1: ‘ .

Horrific Legal Services

Balance Sheet
28 February 19X1

Assets Liabilites and Owner's Equity

Notes Payable

Cash

Accounts Receivable Accounts Payable
J .

Total Liabilites

Land
Honest Rbe, Capital

Building

Equipment

Total Liabilites and
Total Assets Owner's Equity




A 31 uecember adjustea
l

Cash JRVRTRES

\I\ccounts Recelvabl
0ffice Equipment
Accumulated Deprec*atlon:
Accounts Payable '

- Mary:Rodriguez, Capital

Mary “Rodriguez, Drawing
Legal :Fees Earned
Advertising Expense

Rent .Expense .

Salaries Expense

Utilities Expense
Depreciation Expense: .0ffice Equipment
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Office Equipment

i

Totals.h-* e

[§%)

$80,000

140,000
325,000

50,000

60,000
125,000

250,000
25,000

50,000
80,000
225,000

700,000

$ 1,055,000 $1,055,000

Instruct:ons Prepare journal entries to close llie accounts. Use {our entries to: (1
close ‘the revenue account, (2) close the expensce accounts, (3) close the Income

Summary account, and (4) close the drawing account.
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was orgahlzed to do plumblng

C < nbi Contractors
Richardson Plumbing Co " deposited $50,000 int.

repairs. On 1 June, the owner, Sally
a bank account in Lhe firm name.

On 5 June -the company acquired a van at a cost of $15,000, pPaying
$5,000 cash, with a note for the balance.

4
On 15 JUHQ, a $1,000 payment was made on the note.

Instructions: Journalize these transactions and post them to the

ledger accounts provided.
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- Date | Account Titles & Expianations | LP | Debit | Credit

(R

e —————————.

LEDGER
Cash Account No. 1
Date j Explanation / Ref / Debit Credit l Balance

/T ‘,‘/

Account Ho. 25

Explanation Ref ’ Debit Credit i Balance

Date

___h_hn_# __f_-_

. ‘ Notes Payable Account Ho. 40
Date | Explanation | __Ref | Debit Credit | Balance

| ‘/ |

Sally Rlchardson Capital Account No. sb
Date | Exclanaticn Debit Credit | Balance




Cash

PROTENPS PERSONNEL

AGENC

Trial Balance
Harch 31, 19

Accounts Re”elvable
Office Equlpment
Accounts Payable

Robert Johnson, Capital
Robert Johnson, Drawing

Fees Earned

Supplies Expense
Salaries Expense
Advertising Expense

Rent Expense

Utilities Expense

Totals:

a. Using only the data shown in the (rlaI bal

from Ma

rch operations.

b. The office equipment showr | Int
an estimated uset’ul life of four

March is:

. Compute

net income or loss from Marcly operations after {f

entry is made for depreciation,

d. g?haglifle balance in H]@l%@blnf1a f(:‘pnﬂlaccotuu after the ad;
arch depreciation and the clos; ing entries are made af (]

he trial balance was purcl
years. The adjustin 1g ent

$6,500
6,800
7,000

3,000

. 1,000
10,000
6,000
4,000

. 4,700

9

$2,000

12,000

35,000

$49,000 $49,000

ance above, compute net income or loss
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1ased 0n March 1 and has
Iy required at the end of

the necessary adjustine
< .

uszmg entry for

1e end of March?




Restaurant Supply Company had gross Sales Revenue of $260,000,
returns and allowances of $40,000 and sales

The Cost of Goods Sold was £150,000.

5.

There wWere sales
discounts of $20,0060.

Compute: .
o
a. Net Sales
b. Gross Profit .

c. Gross Profit Rate

6. S
Richard's Toy Store uses thegggxindée inventory system. During
the current year, the store purchased toys for reszale in the amount

of: $150,000, | .
Compute the cost of goods sold under the ‘following four

assumptions:
Cost of Goods scld

a. No beginning Inventory;
Ending Inventory $18,000.

b. Beginning Inventory $8,000;
Ho ending inventory.

c. Beginning Inventory $23,000;
Ending Inventory $16,000.

d. Beginning Inventory $5,000;
Ending Inventory $22,000. '




7. A 90 day note receivable is received from a customer in npavment
of equipment that we sold to them. The note hears an issuance datre
of 1 December 19X1 and is in the amount of $10,000.00. An interest
rate of 12% per annum is specified in the note. For the recipient,
record in general journal format, without explanations, the
following. :

a. The receipt of the note on 1 Decemher 19¥1:
b. The 31 December 19X1 adiusting entry:

c. The maturity date of the note on 1 March 2001

Merchandise with a list price of $7,500 is purchased on
cc01n+ terms FOB shivpping point, 1/10 net 30. The seller prepaid
sportation costs of $300.00 Prior to pavment, $2.000.00 of the
chandlse is returned. The correct amount is paid within the
scount period.

m"'“\

Record the following:

a. Purchase of the merchandise on the purchase date:

{
b. Record the receipt of a credit mpmorandum for the returned
merchandise.

¢. Record pavment of the merchandise.



.

ing data regarding 2 firm's credit granting

I, civen the folloW
activities to ‘customers:

¢ $3,000,000 (all credit.)
. 350,000 _

accounts Receiwable!
Breakdown of Receivables:
$275,000 not yet due

75,000 over due

Balance in allowance for doubtful accounts:

$1,000 credit

Uncollectibl‘e accounts are estimated to be 1% of

Asset analysis:
d 6% of those overdue.

those not yet due an

Revenue Analysis: Uncollectible accounts will run 1/2 of 1% of

credit sales.

Record the following in journal format without explanation:

2. The journal entry for estimated bad debt expense using the.

revenue based approach.

w

The journal entry for estimeted bad debt expense using the

b,
zsset based apprceach.

On 8 Januzry Winston Fixture's trizl bzlzance reflected:
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e t
Lccounts Receivebles $240,000
tllowance for Unrccllectible Accounts $7,100
Cn lS'January, Rich.ard Mille, 2 major customer declares bankruptcy
znd Winston determines that the account will be uncollectible. The

“ills account balzance is $4,200.
Give the jourral entry tec record the write off of the

fcceunt:

Mills

lezsae reccrd znswer on the nest sheet.

&e]



The write off of the Mills account:

\'{‘ .

b Compute the estimated net realizable value of the Winston
receivables.

.Before the write off of the Mills Account

L S

After the write off of the Mills Account

11. Metric Systems uses a perpetual inventory system. oOn 10
January 19X2, the company had eight units of a single product on
hand, with a total cost of §2,500. The per unit costs were:

(=3

Purchase Dzate Quzantity Unit Cost Totzl Cost
Ending Inventory, 19X1 3 $300.00 ~$900.00
5 January 5 320.00 1,600.00
Totzl on Hand 8 K $2,500.00

On 15 January 19%X2, Metric sold four units of this produc:.

Usinc the three flow assumptions listed below comgute the cost of -
goods sold and the zmount of endinc inventory after the szle takes
place. Show your ccmputations., S :

a. Average Cost: -

Cost of Goods sold

Encinc [nvertory

LIFO and FIFO methods on the next csheet,



Continuation of #11:

at Out)

LIFO (last in Fi

=

Cost of Goods Sold _ .

Ending Inventory o

FIFO (First in First Out)

cost of Goods Sold |

Ending Inventory

12. super duper sales company has beginning inventory of
$20,000.00 During the current year, it purchases $30,000.00 in
inventory. Its sales total §50,000.00. In accord with 1its
selected cost flow assumption, the cost of goods sold it determined
to be $40,000.00. In looking. at the value of its remaining
inventory, the firm estimates that it will be able to sell it for
89,000 net of cost of selling it. What entry, if any., should be
given for marking the inventory to lower of cost or. market?

transactions:
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osting $1,550,000 was added to a building. A mortgage
finsa

b. A plumbing truck had a lift installed on the
transportation of heavy items auch as boilers could bhe facilitated.
The cost was $7,500.00

¢. A new engine costing $4,000.00 was installed in the plumbing
truck and was expected to increase its life by three years.



Problem 14.:

A Machine costing $25,000 with an estimated residual valye of
$5,000.00 is purchased. 71+¢ is estimated that the usefy] life is 10
Years and the machipe is depreciated op the basis of the straight
line method.. The firm uses the half Year convention,

a. Record depreciation for the first Year:

b. Assuming that the asset ig sold in year 5 for $l2,000.00, give
the journ@lfentry to record the sale of the asset, :

C. Suppose the firm has used double declining_balance instead of
straight line. What would the depreciation have been in year 17

15, Net Sales angd Gross profit.,

Richardsop Sales Corpora ion had gross sales revenue of $2,680,000,
cost of goods sold of $2,062,000. Sales returns and allowances
were $52,000 and szles discounts were $39,000, .

8. DNet Sales
b.. " Gross Profit

C. Gross Profit rate



16, Preware a bank Feconciliation for the
The bank statement balance is $3,016.00
The cash account balance is 3,160.00
Outstanding checks are 590.00
Deposits in transit are 700.00
A bank service charge is 25. 00

A check for 76.00 inp supplies was recorded as

$67.00

Prepare a bank reconciliation for the above case

[
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18. Give three exaﬁples of control,

Why is control an important issye in acfounting?

i





